BLACK HORSE
OFF ROAD

TEL: 1-866-XANATOS

INSTALLATION INSTRUCTIONS

PART # 17BH23MA\17BH23MSS
MODULAR GRILL GUARD
DODGE DURANGO 98-03/DAKOTA 97-04



1  Set Grille Guard

1  Set Lower Mounting Brackets(left & right, when
sitting in the car)

1 Set Upper Mounting Brackets

2 pc M10 x 1” Hex Bolts

2 pc M10 Hex Nuts

pc M10 Lock Washers

pc M10 Oversized Flat Washer
pc M12 x 40mm Hex Bolts

pc M12 Lock Nuts

pc 12mm Flat Washers

e o o o o
oM DN

Instructions:

Step One: Locate the hardware kit and check the contents of with the hardware listed below.

Illustrations are for reference only, styles vary with application.

Step Two: Locate the two factory bolts that hold the main bumper bracket in place on each side of the
vehicle. Remove the nuts on them one side at a time. Orient the brackets as per Fig.#1 and loosely reinstall
the nuts.

Step Three: Open the hood and remove the two innermost upper bumper bolts. Orient the upper support
brackets as per Fig.#2. Loosely reinstall the factory bumper bolts.

Step Four: Place the front guard up to the vehicle with the lower mounting brackets going to the outside
of the side plates.

Step Five: Make final adjustments to the alignment of the guard and tighten all the bolts at this tine.
(NOTE: Make sure the guard does not interfere with the opening and closing of the hood.)

Dodge Dakota/ Durango Front Bracket
Pass. side shown

Remove nuts here (x2)

leave hand tight until
guard is in position

2pcs 10mm Oversized Flat
Washer

1pc 10mm Lock Washer
2pcs M12 x 40mm Hex Bolts 1pc M10 Hex Nuts

4pcs 12mm Flat Washers
2pcs M12 Lock Nuts

Page 1 of 1




